


• Anil, Raju and Ravi are standing at the corners of an equilateral triangle drawn 

in an open field. Raju walks 3 km to reach Anil. How much distance Anil has to 

walk to reach Ravi and then to come back to his starting point? 

• अनिल, राज ूऔर रनि एक खलेु मैदाि में खींचे गए एक समबाहु निभजु के कोिों पर खडे हैं। राजू

अनिल तक पहुुँचिे के नलए 3 नकमी चलता ह।ै रनि तक पहुुँचिे के नलए और निर अपिे शरुुआती 

नबिंद ुपर िापस आिे के नलए अनिल को नकतिी दरूी तय करिी होगी?

A.3

B. 4

C. 5

D.6



• The total of the ages of Amar, Akbar and Anthony is 80 years. What was the 

total of their ages three years ago ?

• अमर, अकबर और एिंथोिी की कुल आय ु80 िर्ष ह।ै तीि िर्ष पहले उिकी आय ुका योग नकतिा 

था?

A.71 years

B. 72 years

C. 74 years

D.77 years



• In a row of 60 persons, Ganesh is 26th from left end. Find out his position from 

the right end

• 60 व्यनियों की एक पिंनि में, गणेश बाएिं छोर से 26िें स्थाि पर ह।ै दायें छोर से उसकी नस्थनत ज्ञात 

कीनजए

A.35

B. 34

C. 36

D.None of these



• Select the option that is related to the fifth number in the same way as the 

second number is related to the first number and the fourth number is related to 

the third number.

• उस निकल्प का चयि कीनजए जो पािंचिीं सिंख्या से उसी प्रकार सिंबिंनित ह ैनजस प्रकार दसूरी सिंख्या
पहली सिंख्या से सिंबिंनित ह ैऔर चौथी सिंख्या तीसरी सिंख्या से सिंबिंनित ह।ै

• 9:109 ::7 :71 ::13:? A.238

B. 229

C. 218

D.209



• Select the option that is related to the third word in the same way as the second 

word is related to the first word.

• उस निकल्प का चयि कीनजए जो तीसरे शब्द से उसी तरह सिंबिंनित ह ैनजस तरह दसूरा शब्द पहले 
शब्द से सिंबिंनित ह।ै

• Farmer : Farm :: Artist : ?
A.Theater

B. Hero

C. Actor

D.Campaign



• Statement:

• All wood are roots./सभी लकडी जड हैं।

• All fruits are roots./सभी िल जड हैं।

• No wood is fruit./कोई लकडी िल िहीं ह।ै

• Conclusion:

• (1) Some roots are fruits./कुछ जडे िल हैं। 

• (II) All roots are wood./सभी जडे लकडी हैं।



• Out of the four given equations, the first three are solved on the basis of a 

certain method. Find the correct answer for the fourth unsolved equation on the 

same basis.

• न ए गए चार समीकरणों में से, पहले तीि को एक निनित प्रणाली के आिार पर हल नकया जाता 
ह।ै उसी आिार पर हल िहीं नकए गए चौथे समीकरण के नलए सही उत्तर ज्ञात कीनजए।

• 6*5=91

• 8*7 = 169

• 10*9 = 271

• 22 * 5 = ?

A. 993

B. 331

C. 845

D. 678



• In a certain code language, RUMMY is written as QVLNX. How will CHESS 

be written in that code?

• एक निनित कूट भार्ा में, RUMMY को QVLNX के रूप में नलखा जाता ह।ै उस कूट में 

CHESS नकस प्रकार नलखा जाएगा?

A. BIFRT

B. BGDTR

C. BGFTR

D. BIDTR



• Select the correct set of letters to complete the given series.

• दी गई श्रिंखला को परूा करिे के नलए अक्षरों के सही समहू का चयि कीनजए।

• _bac_ac_acb_ _ ba

A. c, a, b, b, c

B. a, b, b, a, c

C. a, c, c, b, b

D.c, b, b, a, c



• Four numbers are given, out of which three are alike and one is different. Select 

the odd one out.

• चार सिंख्याएिं दी गई हैं, नजसमें से तीि एक जैसी हैं और एक अलग ह।ै बेजोड का चयि कीनजए ।

A. 144

B. 256

C. 676

D. 81



• Three different positions of the same dice are shown. Select the number which 

will be on the face opposite to the one with 5.

• एक ही पासे के तीि अलग-अलग नस्थनतयाुँ नदखाई गई हैं। उस सिंख्या का चयि कीनजए जो 5 िाले 

के निपरीत िलक पर होगी।

A. 1

B. 4

C. 6

D.3

5

3

6 4 2

3

12

5



• Select the number which can replace the question mark (?) in the following 

series.

• निम्िनलनखत श्रिंखला में प्रश्न नचह्न (?) को बदल सकिे िाली सिंख्या का चयि कीनजए।

• 213, 217, 233, 269, ?

A.296

B. 333

C. 428

D.312



• If '#' means '-', '&' means '÷', '@' means 'x' and '÷' means '+', then

• 15 @ 2÷ 900 & 30 # 10 = ?

A. 21

B. 210

C. 50

D. 600



• P is the brother of Q. R is the daughter of Q. S is the sister of P. Q is the sister 

of S. T is brother of R. Who is the uncle of T?

• P, Q का भाई ह।ै R, Q की बेटी ह।ै S, P की बहि ह।ै Q, S की बहि ह।ै T, R का भाई ह।ै T का 

अिंकल कौि ह?ै

A.P

B. Q

C. C

D.S



• Aarav's mother is 3 times as old as Aarav 5 years ago. 5 years from now she 

will be twice as old as Aarav. What is Aarav's age today?

• 5 िर्ष पिूष आरि की माता आरि से 3 गिुा ियस्क हैं। ितषमाि से 5 िर्ष बाद िह आरि से दोगिुी 

ियस्क होगी। आज आरि की आय ुक्या ह?ै

A.25

B. 20

C. 15

D.10



• Choose the correct mirror image of the given figure (X) from amongst the four 

alternatives.

• चार निकल्पों में से दी गई आकर नत (X) की सही दपषण छनि चिुें।

X 1 2 3 4



• Find the number of triangles in the figure.

•आकर नत में निभजुों की सिंख्या ज्ञात कीनजए।

A.20

B. 24

C. 28

D.32



• Choose a figure which would most closely resemble the unfolded form of 

Figure (Z).

• एक ऐसी आकर नत चिुें, जो नचि (Z) के अििोल्डेड िॉमष के सबसे करीब से नमलती-जलुती हो।



• Find out that answer figure in which the question figure is embedded.

• िह उत्तर आकर नत ज्ञात कीनजए नजसमें प्रश्न आकर नत सननिनहत ह।ै



• When the time is 5:40, then what is the angle b/w the hour hand & the minute 

hand of a clock?

• जब समय 5:40 होता ह,ै तो घडी की घिंटे की सईु और नमिट की सईु के बीच का कोण क्या होता 

ह?ै

A.70

B. 74

C. 60

D.80



• What was the day on 15th august 1947 ?

• 15 अगस्त 1947 को कौि सा नदि था?

A.Friday

B. Saturday

C. Sunday

D.Thursday



• A group of eight friends – P, Q, R, S, T, U, V, and W are sitting in a straight 

line with north facing. P sits third to the right of U. Neither P nor U sits at the 

extreme edges of the line. T is not an immediate neighbor of either P or U. One 

person is sitting between W and R. Q sits at an end of the line. Q sits on the 

immediate right of P. T doesn’t sit to the left of S. R sits at the 4th position 

from either end of the row.

•आठ नमिों का एक समहू – P, Q, R, S, T, U, V और W एक सीिी पिंनि में उत्तर की ओर मखु 

करके बैठे हैं। P, U के दायें से तीसरे स्थाि पर बैठा ह।ै ि तो P ि ही U पिंनि के अिंनतम छोर पर बैठा

ह।ै T, P या U का निकटतम पडोसी िहीं ह।ै W और R के बीच एक व्यनि बैठा ह।ै Q पिंनि के 

अिंत में बैठा ह।ै Q, P के ठीक दायें बैठा ह।ै T, S के बायें िहीं बैठा ह।ै R पिंनि के नकसी भी छोर से 

चौथे स्थाि पर बैठा ह।ै

• How many persons sit between W and P?


